CHAPTER -7
CAN YOU SEE THE PATTERN?
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Question 1:
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Now use these two rules to make patterns with this ‘. block.

Answer:
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Question 1: What should come next? (a)
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(c)




Question 1: See this pattern




(a)

F|IA M7

The rule of the pattern is a€+ turning by 45° each time. Which will be
the next? Tick (v') the right one.

A0 5O 0

Answer:

(a)

FIAm7

Following the pattern, the next figure will be

Al e« H0

Question 2: Using the same rule take it forward till you get back to what
you started with.

(b)
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Question 1: Some patterns are given below on the left side of the red
line. For each patter, write the rule. Then choose what comes next from
the right side of the line and tick (v') it.

T & 9

Rule:




Answer:

(a) Rule: Turn by 45 °each time

(b) Rule: Turn by 90° each time
() )
(c) Rule: Turn by 90° each time
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v ()




(d) Rule: Turn by 90° each time
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Question 1: Look for a Pattern Mark that picture which is breaking the
rule. Also correct it.
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Answer:




(a)
v
The correct answer should be

sRegere

(b)

%*%ﬁ%?%

The correct answer should be
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The correct answer should be
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(d)
v
The correct answer should be

00900000

Question 2:

* Fill this square using all the numbers from 46 to 54. Rule: The total of
each line 1s 150.

49

52 47

* Fill this square using all the numbers from 21 to 29. Rule: The total of
each side 1s 75.

Answer:
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Question 1: Look at the patterns of numbers in hexagons. Each side has
2 circles and 1 box.




Look at the number 65 1n the box. Which are the circles next to 1t? Can
you see how the rule works?

Answer:

Circles having numbers 5 and 13 are next to the number 65. In this rule,
both the numbers in the circles are multiplied to get the number in the
box.

Question 2: Use the same rule to fill the hexagons below.




Now you also make your own magic hexagons.

Answer:

(a)

Disclaimer: The answer may vary from student to student, based on

his/her observation. It is highly recommended that the students prepare
the answer on their own.
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Question 1:




a7+ € - €D ’x;}"“
] I'I I +— % ./__Z- = {__..-. /.}

o N
215 )+ <120 >+ 600 | = | 600 +( 215 )+<120 >

Are they equal?
Answer:

Yes, both of them are equal because we are adding same numbers on
both the sides, only their order will change.

24+19+37=8037+24+19=280
215+ 120 + 600 =935 600 + 215 + 120 = 935

Order does not matter in addition.

Question 2: Fill in the blank spaces in the same way.




A

147 + |34]| +(20 = |34

(a

. ++‘55=654++

(200) + <300> + 400 =(200)+ 400 + <300»
— b~ =7 b~

(c)

0. + 40 +Cs0y=Cs500 + A0\ + 40

()

Disclaimer: The answer in part (d) of the question varies from student to
student. The answer provided here is only for reference.

Question 3: Now, look at this

'1}_51" x 13 = 13 » ".._5.&(-'

Check if it is true or not.

Answer:

48 x 13 =624

13 x 48 = 624 Their multiplication is equal. So, it is true.
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Question 1: Try and change these numbers into special numbers — (a)
28 (b) 132 (¢) 273

Answer:

(a) Take number 28, turn it in the reverse order to get 82. Add them
together: 28 + 82 = 110 But this is not a special number because when we




reverse its order, we get 011. Now, we add: 110 + 011 = 121 When we
reverse its order, we get 121. Thus, it is a special number.

(b) Take the number 132, turn it in the reverse order to get 231. Add them
together: 132 + 231 = 363 When we reverse its order, we get 363. Thus,
we get the special number as required.

(c) Take the number 273, turn it in the reverse order to get 372 Add them
together: 273 + 372 = 645 But this is not a special number because when
we reverse its order, we get 546. Now, if we subtract them, we get 645 —
546 =99 When we reverse its order, we get 99, which is a special number.

Question 2: NO LEMONS NO MELON STEP NOT ON PETS

Did you notice that it reads the same from both sides — right to left and
left to right? Now try and use words in a special way.

Answer:

MADAM, EYE, RACE CAR, A SANTA AT NASA

Disclaimer: The answer may vary from student to student. It is highly
recommended that the students prepare the answer on their own. The
answer provided here is only for reference.
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Question 1: Look at the calendar below. Let us mark a 3 x 3 box (9 dates)
on the calendar and see some magic.




22 23

29 30

Take the smallest number 3
Add 8toit +8
= 11
Multiply it by 9 %9
Total 99

Now you choose any 3 x 3 box from a calendar and find the total in the
same way.

Answer:

w th f

4 5 6

10 §j11 12 | 13

16 | 17 |18 19 | 20

‘

- ——— e e =]

23 24 25 26 27

29 30 31

Take the smallest number = 4
Adding 8 to it, we get 12.
Multiplying it by 9, we get 12 x 9 =108




So, the sum of all the numbers in the selected box 1s 108.
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Question 1: Take any number. Now multiply it by 2, 3, 4
every step. also add 3 to it at each step. Look at the difference in the
answer. Is it the same at every step?
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Difference between 39 — 27 = 12 Difference between 51 — 39 = 12
Difference between 63 — 51 12 Difference between 75— 63 = 12
Difference between 87 — 75 = 12 Difference between 99 — 87 = 12 Thus,
the difference is same at all the steps.

Question 2: Look at the numbers below. Look for the pattern. Can you
take it forward?

@-1) <
(98 - 2) =
(987 - 3) +
(9876 - 4) =
(OB765 ~ 5) =
— } +
=

(9-1) =
(98 - 2) =
(987 - 3) =

(9876 - 4) 2
(98765 - 5) =
{ 987654 — 6 ) 1

1
12
123
1234
12345
123456

[ 9876543 -7 ) = 1234567

( 98765432 —8 ) =
( 987654321 -9 ) =

12345678
123456789

Do el o 0 G0 Mok o0 o W
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Question 1:

142 ¥344%54+6+7 +8+9 +10 = 55
11$12% % % ¥ ¥ ¥ ¥ %20 =155

@O0O0OCO0S- D
GO OO = O
R A R R o]

S1h # 4 % & & 4 5 feo|= 558
b6 A% % % X ¥ K _x10)= ()

* Did you notice some pattern in the answers?

Answer:

142 ¥344%546+7 +8+9+10 = 55
'11+12+13+14+15+16+17+18+19+20 = 155

m@@@@w@@@o 253
(31%32433 #3435 436437 438 ¥39440) = 355
mzzmmmmmzmm

@@@@@@@@@@ @

In each succeeding pattern, the final sum is increased by 100.




Question 2: Take the first two odd numbers. Now add them, see what you
get. Now, at every step, add the next odd number.

8/ "@3@

[AR3/59
"@@' 19 @@7
PR/ AT
B0 Ry A N
R D

How far can you go on?

Answer:

IRt/
(FRRi5 8 /343,

TR/ 1658 (3]
R =B 58\
(AT /0 365 8\/6]
(RGN 8/ RNfATE 9 =TT\
As there are uncountable or infinite numbers, this pattern will never come
to an end.
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Question 1: Ask your friend — Write down your age. Add 5 to it.
Multiply the sum by 2. Subtract 10 from it. Next divide it by 2. What do
you get? Is your friend surprised?




Answer:

Let the age of my friend be 9 years.

Adding 5 to it, we get 9 + 5= 14

Multiplying this sum by 2, we get 14 x 2 =28
Subtracting 10, we get 28 — 10 =18

Dividing it by 2, we get > = 9

After doing all the operations, we again get the age of our friend’s age as
the final answer.

Disclaimer: The answer may vary from student to student based on
his/her observation. The answer provided here is only for reference.
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Question 1:

b) Y7 Take a number I

f! Double it

:j:
Y2 Multiply by 5 :j:
:j+

Y4 Divide your answer by 10

Answer:




Y7 Take a number
"i:i’ Double it %

Y7 Multiply by 5 | 20 }x

'ﬂf Divide your answer by 10 100 |-

Disclaimer: The answer may vary from student to student. The answers
provided here are only for reference.

Question 2:

c)
17 Take a number

ﬁDnuble it

M

ﬂkgaln double it

YT Add the number you took
first to the answer

4 Now again double it

-

b 4

¥ Divide by 10
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Y7 Take a number

f{Dnuble it

7]
ﬁAgatn double it 2 I
="
6
e
S
2
i

ﬁﬂdd the number you took
first to the answer

7 Now again double it X

—
10

YrDivide by 10 | 60 |+

e

Disclaimer: The answer may vary from student to student. The answers
provided here are only for reference.

Question 3: Look at this pattern of numbers and take it forward.

1 Ix 1

121 11 x 11
12321 111 x 111
1234321 = ?

Answer:

1
121
12321

1234321




123454321 11111 x 11111

12345654321 111111 x 111111




